(£3)

WL FERF

spare parts list
Vorabscheider 30l

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 lIsfeld
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com



Table of contents

1 Pre Separator 301 (01/2015 - 02/2022)
2 Hobbok
3 Equipment

1 Pre Separator 30l (03/2022 - up to now)
2 Hobbok
3 Equipment

[
NOOoNU W

Page 2 /12 01.04.2024



1 Pre Separator 301 (01/2015 - 02/2022)

o S
\ < =
< =
e
. L X
’ A\
i \
/
|
> ‘\
A\
(1114
\/\>‘ \
W
RN/

Page 3/ 12 01.04.2024



1 Pre Separator 301 (01/2015 - 02/2022)

Item no. Article no. Description
2 01 01 072916 Hobbok
3 01 02 073916 Equipment

Page 4 /12 01.04.2024



2 Hobbok

/
\ =

//
/ \A/PH m\w

/ /
/

[ N

‘, /%/f\er

/ W

2

0 <=7
/NN < M
A \

/ .
iR o)

01.04.2024

Page 5/12



2 Hobbok

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

Page 6 /12

073102
072875
072879
085108
072885
072870
017724
018222
072873
072264
049654
017552
017728
014817
082149
169270

Description
extension hose 1,2 m
Distance disc Pre-separator

Chassis Pre-separator

Collecting Container Hobbock 30L white

Cover Hobbock 30l

Swivel roller Pre-separator
Washer DIN 9021 6,4x18x1,6
washer 6,6 DIN 440

Lashing strap Pre-separator
Pre-separator Zyklon

Cylinder head screw M10x25 DIN 912
Lens head screw M 6x16 ISO 7380
cap nut M 6 DIN 986

Hexagon nut M10 DIN 985
Clamping ring Hobbock 30L

Inserter pre-separator 30l until 2021

Quantity

N L = S = T N e e e R U =]

=
= = b O O

01.04.2024



3 Equipment

Item no. Article no. Description Quantity

1 082069 Adapter-Set pre-separator for Ronda

2 015744 Muffle/Hose @ 38 mm 1

3 059940 Hose socket side tank Ronda 1
Page 7 /12

01.04.2024



1 Pre Separator 301 (03/2022 - up to now)

i

Page 8/ 12 01.04.2024



1 Pre Separator 301 (03/2022 - up to now)

Item no. Article no. Description
2 02 01 072916 Hobbok
3 01 02 073916 Equipment

Page 9/ 12 01.04.2024



2 Hobbok

=00 F
/

g0k

0

[0} iv

@ A@%\ o

Page 10/12

01.04.2024



2 Hobbok

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

Page 11/12

168655
168691
082214
072875
018222
017552
017728
072870
049654
014817
072264
017724
168656
073102
072873
169272

Description

Collecting Container Hobbock 30L 2021

Cover Hobbock 30L 2021

Chassis Preseparator

Distance disc Pre-separator
washer 6,6 DIN 440

Lens head screw M 6x16 ISO 7380
cap nut M 6 DIN 986

Swivel roller Pre-separator
Cylinder head screw M10x25 DIN 912
Hexagon nut M10 DIN 985
Pre-separator Zyklon

Washer DIN 9021 6,4x18x1,6
Clamping ring Hobbock 30L 2021
extension hose 1,2 m

Lashing strap Pre-separator

Inserter pre-separator 30l from 2022

Quantity

S N N = N =

=
o O

I I e = =) N = T S U

01.04.2024



3 Equipment

Item no. Article no. Description Quantity

1 082069 Adapter-Set pre-separator for Ronda

2 015744 Muffle/Hose @ 38 mm 1

3 059940 Hose socket side tank Ronda 1
Page 12 /12

01.04.2024


http://www.tcpdf.org

	Table of contents
	1 Pre Separator 30l (01/2015 - 02/2022)
	2 Hobbok
	3 Equipment

	1 Pre Separator 30l (03/2022 - up to now)
	2 Hobbok
	3 Equipment


